
ao = NetworkedActiveObject(make_name('ao'),
                            rabbit_user='peter',
                            rabbit_password='rabbit',
                            tx_routing_key='heya.man',
                            rx_routing_key='#.man',
                            mesh_encryption_key=b'u3U...')
                            
ao.enable_snoop_trace() # instrumentation
# ao.enable_snoop_spy() # instrumentation
fo.start_at(outer)               # linking happens here

Collaboration

MirosNetsInterface

on_network_message(...)

on_network_trace_message(...)

on_network_spy_message(...)

transmit(self, event)

enable_snoop_trace()

enable_snoop_spy()

snoop_scribble(...)ActiveObject

MirosNets

NetworkedActiveObject

start_at(self, initial_state)

Event Processor

chart.post_fifo(
  Event(signal=signals.to_inner),
  times=1,
  period=random.randint(2,7),
  deferred=True
)
chart.transmit(
  Event(signal=signals.other_to_outer))

outer

entry / {}
exit / {}

inner

entry / chart.post_fifo(
  Event(signal=signals.to_outer),
  times=1,
  period=random.randint(2,7),
  deferred=True
  )
  chart.transmit(Event(signal=signals.other_to_outer))
  
exit / chart.cancel_events(
  Event(signal=signals.to_outer))

other_to_inner / {}
to_inner / {}other_to_outer

other_to_inner

to_outer

to_inner


